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Grade 6 ELA 

Spring 2017 Item Release 

Content Summary and Answer Key 

Question 

No. 

Item 

Type 
Topic 

Content 

Standard 
Answer 

Key 
Points 

1 
Multiple 

Choice 

Craft and 

Structure 

Determine the meaning of 

words and phrases as they are 

used in a text, including 

figurative, connotative, and 

technical meanings. 

D 1 point 

2 

Multi-

Select 

Item 

Key Ideas and 

Details 

Determine a central idea of a 

text and how it is conveyed 

through particular details; 

provide a summary of the text 

distinct from personal opinions 

or judgments. 

A, B, F 1 point 

3 
Multiple 

Choice 

Craft and 

Structure 

Determine the meaning of 

words and phrases as they are 

used in a text, including 

figurative, connotative, and 

technical meanings. 

A 1 point 

4 

Evidence-

Based 

Select 

Response 

Key Ideas and 

Details 

Analyze in detail how a key 

individual, event, or idea is 

introduced, illustrated, and 

elaborated in a text (e.g., 

through examples or 

anecdotes). 

B; B 2 points 

5 
Multiple 

Choice 

Craft and 

Structure 

Analyze how a particular 

sentence, paragraph, chapter, 

or section fits into the overall 

structure of a text and 

contributes to the development 

of the ideas. 

C 1 point 
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Grade 6 ELA 

Spring 2017 Item Release 

Content Summary and Answer Key 

Question 

No. 

Item 

Type 
Topic 

Content 

Standard 
Answer 

Key 
Points 

6 
Multiple 

Choice 
Vocabulary 

Demonstrate understanding of 

figurative language, word 

relationships, and nuances in 

word meanings. 

C 1 point 

7 
Extended 

Response 
Expository 

Write informative/explanatory 

texts to examine a topic and 

convey ideas, concepts, and 

information through the 

selection, organization, and 

analysis of relevant content. 

--- 10 points 

8 
Multiple 

Choice 

Craft and 

Structure 

Determine the meaning of words 

and phrases as they are used in 

a text, including figurative, 

connotative, and technical 

meanings. 

C 1 point 

9 
Multiple 

Choice 

Integration of 

Knowledge 

and Ideas 

Compare and contrast one 

author’s presentation of events 

with that of another (e.g., a 

memoir written by and a 

biography on the same person). 

D 1 point 

10 

Multi-

Select 

Item 

Key Ideas and 

Details 

Analyze in detail how a key 

individual, event, or idea is 

introduced, illustrated, and 

elaborated in a text (e.g., 

through examples or 

anecdotes). 

B, D 1 point 

11 
Multiple 

Choice 

Integration of 

Knowledge 

and Ideas 

Integrate information presented 

in different media or formats 

(e.g., visually, quantitatively) as 

well as in words to develop a 

coherent understanding of a 

topic or issue. 

D 1 point 
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Grade 6 ELA 

Spring 2017 Item Release 

Content Summary and Answer Key 

Question 

No. 

Item 

Type 
Topic 

Content 

Standard 
Answer 

Key 
Points 

12 

Multi-

Select 

Item 

Craft and 

Structure 

Determine the meaning of words 

and phrases as they are used in 

a text, including figurative, 

connotative, and technical 

meanings. 

B, C 1 point 

13 
Multiple 

Choice 

Craft and 

Structure 

Determine an author’s point of 

view or purpose in a text and 

explain how it is conveyed in the 

text. 

B 1 point 

14 

Evidence-

Based 

Select 

Response 

Key Ideas and 

Details 

Cite textual evidence to support 

analysis of what the text says 

explicitly as well as inferences 

drawn from the text. 

B; C 2 points 
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Grade 6 

English Language Arts 

Spring 2017 Item Release 

 

Stimulus for Questions 1 – 7 
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Stimulus for Questions 1 – 7 
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Grade 6 

English Language Arts 

Spring 2017 Item Release 

 

Question 1 

 

Question and Scoring Guidelines 
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Question 1 

 
16919 

 

 

 

 

 

 
 

 

 

 

 

 

 

Points Possible: 1 

 

Topic: Craft and Structure 

 

Content Standard: Determine the meaning of words and phrases as 

they are used in a text, including figurative, connotative, and 

technical meanings. 

 

Student Performance on this Question: 

 

Percent 0 Points Earned: 49.31% 

Percent 1 Point Earned: 50.69% 
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Scoring Guidelines 

Rationale for Option A: This is incorrect. The word "dazzle" can be interpreted 

as "shiny" or "full of light", but there is no context for a direct interpretation of 

the language in this way. 

 

Rationale for Option B: This is incorrect. Although this sentence describes how 

beautiful Yosemite was on President Roosevelt's visit, there is no evidence to 

suggest it had been decorated. 

 

Rationale for Option C: This is incorrect. This is a more direct interpretation of 

the meaning of the phrase; however, paragraph 17 does not mention the 

sunrise. 

 

Rationale for Option D: Key – This phrase suggests that if there was ever a day 

to dazzle, it was when the President visited Yosemite. 

 

Sample Response: 1 point 
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Grade 6 

English Language Arts 

Spring 2017 Item Release 

 

Question 2 

 

Question and Scoring Guidelines 
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Question 2 

16920 

Points Possible: 1 

Topic: Key Ideas and Details 

Content Standard: Determine a central idea of a text and how it is 

conveyed through particular details; provide a summary of the text 

distinct from personal opinions or judgments. 

Student Performance on this Question: 

Percent 0 Points Earned: 82.08% 

Percent 1 Point Earned: 17.92% 
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Scoring Guidelines 

Rationale for First Option: Key – The fact that John Muir had lived in Yosemite 

extensively and knew the area is an important detail to include in a summary 

of Passage 1. 

 

Rationale for Second Option: Key – The role of John Muir as a guide for 

President Roosevelt is an important detail to include in a summary of Passage 

1. 

 

Rationale for Third Option: This is incorrect. The fact that the two men rode on 

horseback to Yosemite Valley is a minor detail and should not be included in a 

summary of the passage. 

 

Rationale for Fourth Option: This is incorrect. The fact that the two men talked 

beneath a canopy of sequoias is a minor detail and does not need to be 

included in a summary of the passage. 

 

Rationale for Fifth Option: This is incorrect. The description of the sunlight 

glittering off the rocks and cliffs of Yosemite is not an important detail to 

include in a summary of the passage. 

 

Rationale for Sixth Option: Key – The fact that President Roosevelt took a 

stance that the sequoias need protecting after taking a guided tour through 

Yosemite with John Muir is an important detail to include in a summary of the 

passage. 
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Grade 6 

English Language Arts 

Spring 2017 Item Release 

 

Question 2 

 

Sample Responses 
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Sample Response: 1 point 

Notes on Scoring 

This response receives full credit (1 point) because all correct 

answers are selected. For this item, a full-credit (1 point) 

response includes the following selections: 

 “John Muir had lived in Yosemite for thirty years,

working as a wilderness guide and living off the land.”

(paragraph 2)

AND

 “Muir quickly agreed to guide Roosevelt.”

(paragraph 9)

AND

 “‘The sequoias deserve protection,’ he said, ‘simply

because it would be a shame to let them disappear.’”

(paragraph 19)
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Sample Response: 0 points 

 
 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

Notes on Scoring 

 

This response receives no credit (0 points) because the third 

answer selected is incorrect. Although the first and second 

answers selected are correct, in order to receive credit for 

this item, students must select all three correct answer 

options. No partial credit is awarded for this item type. 
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Sample Response: 0 points 

Notes on Scoring 

This response receives no credit (0 points) because the first 

and second answers selected are incorrect. Although the 

third answer selected is correct, in order to receive credit for 

this item, students must select all three correct answer 

options. No partial credit is awarded for this item type. 
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Grade 6 

English Language Arts 

Spring 2017 Item Release 

 

Question 3 

 

Question and Scoring Guidelines 
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Question 3 

16921 

Points Possible: 1 

Topic: Craft and Structure 

Content Standard: Determine the meaning of words and phrases as 

they are used in a text, including figurative, connotative, and 

technical meanings. 

Student Performance on this Question: 

Percent 0 Points Earned: 29.64% 

Percent 1 Point Earned: 70.36% 
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Scoring Guidelines 

Rationale for Option A: Key – The word "passionate" denotes how emotional 

Roosevelt felt about the topic of preservation. 

 

Rationale for Option B: This is incorrect. Students may choose this option 

because they think that Roosevelt's speech was meant to provide hope of 

saving the forest. 

 

Rationale for Option C: This is incorrect. Students may choose this option 

because they think he would likely have plenty to discuss following his visit to 

Yosemite, but there is no context to support this interpretation of the word. 

 

Rationale for Option D: This is incorrect. Students may choose this option 

because the context “just days after his camping trip” refers to time, but there 

is no context to support a sudden speech, which conveys unpreparedness. 

 

Sample Response: 1 point 
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Grade 6 

English Language Arts 

Spring 2017 Item Release 

 

Question 4 

 

Question and Scoring Guidelines 
 

 

 

 

 

 

 

 

 



22 

Question 4 

16922 

Points Possible: 2 

Topic: Key Ideas and Details 

Content Standard: Analyze in detail how a key individual, event, or idea is 

introduced, illustrated, and elaborated in a text (e.g., through examples or 

anecdotes). 

Student Performance on this Question: 

Percent 0 Points Earned: 29.84% 

Percent 1 Point Earned: 43.65% 

Percent 2 Points Earned: 26.5% 
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Scoring Guidelines 

Part A 

Rationale for Option A: This is incorrect. Muir was excited about meeting the 

President, and Roosevelt is mentioned first in the passage, but Muir is not 

introduced as someone who wanted to meet the president. 

 

Rationale for Option B: Key – Muir is introduced as a “famous outdoorsman 

and preservationist” and also as someone “who had lived in Yosemite for thirty 

years”. 

 

Rationale for Option C: This is incorrect. The passage includes a description of 

the singing birds and their enjoyment of them, but Muir’s interests were wide 

and varied. 

 

Rationale for Option D: This is incorrect. In the passage, Muir mentioned Uncle 

Sam and the government’s effort to form Yosemite National Park, but, though 

Muir wanted to protect the land, the passage does not show that he was able 

to do so. 

 

Part B 

Rationale for Option A: This is incorrect. Roosevelt mentions his good fortune in 

meeting Muir, but this sentence does not support Muir as an expert. 

 

Rationale for Option B: Key – Roosevelt establishes that no one else “in the 

world” is better to see Yosemite with, establishing Muir as an expert. 

 

Rationale for Option C: This is incorrect. While this option describes an aspect 

of John Muir, it describes him as a non-expert about birds, not as an expert on 

Yosemite. 

 

Rationale for Option D: This is incorrect. While this option expresses how 

Roosevelt is grateful for the experience, it categorizes Muir and Burroughs 

together and does not identify them, necessarily, as experts. 
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Grade 6 

English Language Arts 

Spring 2017 Item Release 

 

Question 4 

 

Sample Responses 
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Sample Response: 2 points 

Notes on Scoring 

This response receives full credit (2 points) because the 

correct answer is selected in both Part A and Part B. 
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Sample Response: 1 point 

 
 

 

 

 

 

 

 

 

 

Notes on Scoring 

 

This response receives partial credit (1 point) because the 

correct answer is selected in Part A, but an incorrect answer is 

selected in Part B. 
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Sample Response: 1 point 

Notes on Scoring 

This response receives partial credit (1 point) because the 

correct answer is selected in Part A, but an incorrect answer is 

selected in Part B. 



29 
  
 

Sample Response: 0 points 

 
 

 

 

 

 

 

 
 

 

Notes on Scoring 

 

This response receives no credit (0 points) because the 

answer selected in Part A is incorrect. While the answer 

selected in Part B is correct, students do not receive partial 

credit on this item type when Part A is incorrect and Part B is 

correct. In order to receive partial credit (1 point) for this item, 

students are required to select the correct answer in Part A. 
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Sample Response: 0 points 

Notes on Scoring 

This response receives no credit (0 points) because the 

answer selected in both Part A and Part B is incorrect.  
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Grade 6 

English Language Arts 

Spring 2017 Item Release 

 

Question 5 

 

Question and Scoring Guidelines 
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Question 5 

16923 

Points Possible: 1 

Topic: Craft and Structure 

Content Standard: Analyze how a particular sentence, paragraph, 

chapter, or section fits into the overall structure of a text and 

contributes to the development of the ideas. 

Student Performance on this Question: 

Percent 0 Points Earned: 46.41% 

Percent 1 Point Earned: 53.59% 
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Scoring Guidelines 

Rationale for Option A: This is incorrect. While the previous paragraph mentions 

the supplies John Muir brought for the trip to Yosemite, paragraph 22 states he 

didn't know the names of many birds and does not go into detail about 

specific preparations. 

 

Rationale for Option B: This is incorrect. While paragraph 22 does mention 

birds, it does so to describe how little John Muir was interested in them. While 

the paragraph states that he and President Roosevelt both liked water-ouzels, 

it does not say they bonded over a shared love of bird-watching. 

 

Rationale for Option C: Key – The paragraph describes how John Muir was 

more focused on the grand, overall beauty of Yosemite, including its trees, 

flowers and cliffs, than on individual types of birds. 

 

Rationale for Option D: This is incorrect. While paragraph 22 does mention the 

fact that John Muir and President Roosevelt camped during a snow-storm, it 

does not indicate that John Muir was unprepared for different types of 

weather. 

 

 

Sample Response: 1 point 
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Grade 6 

English Language Arts 

Spring 2017 Item Release 

 

Question 6 

 

Question and Scoring Guidelines 
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Question 6 

16924 

Points Possible: 1 

Topic: Vocabulary 

Content Standard: Demonstrate understanding of figurative 

language, word relationships, and nuances in word meanings. 

Student Performance on this Question: 

Percent 0 Points Earned: 50.95% 

Percent 1 Point Earned: 49.05% 
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Scoring Guidelines 

Rationale for Option A: This is incorrect. Although both sentences refer to size, 

the figurative language is used to describe Yosemite in more emotional or 

personal terms. 

 

Rationale for Option B: This is incorrect. Although the passages detail Muir's 

desire to preserve Yosemite, the figurative language is used in these sentences 

to refer to the land as more of a personal sanctuary, not as a national 

monument. Muir thought the land should be preserved as it was; there was no 

need for a monument. 

 

Rationale for Option C: Key – Muir uses this language because he was struck 

by Yosemite's beauty and his own ability to feel at one with nature. 

 

Rationale for Option D: This is incorrect. Although both sentences are 

dedicated to describing Yosemite using beautiful language, the language 

suggests a more personal connection to the land beyond just an interest in it. 

 

 

Sample Response: 1 point 
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Grade 6 

English Language Arts 

Spring 2017 Item Release 

 

Question 7 

 

Question and Scoring Guidelines 
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Question 7 

16925 



41 

Score Points Earned by Dimension 

Score Point(s) 

Earned 

Purpose, Focus, 

and Organization 

Evidence and 

Elaboration 

Conventions of 

Standard English 

4 2.19% 1.72% N/A 

3 16.7% 11.56% N/A 

2 38.52% 41.53% 55.21% 

1 34.75% 36.78% 35.02% 

0 7.84% 8.41% 9.77% 

Total Score Points Earned 

0 1 2 3 4 5 6 7 8 9 10 

4.96% 2.64% 5.00% 19.99% 11.92% 10.44% 26.54% 5.97% 10.61% 0.32% 1.63% 

Points Possible: 10 

Topic: Expository 

Content Standard: Write informative/explanatory texts to examine a 

topic and convey ideas, concepts, and information through the 

selection, organization, and analysis of relevant content. 
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Scoring Guidelines 



43 
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Grade 6 

English Language Arts 

Spring 2017 Item Release 

 

Question 7 

 

Sample Responses 
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Sample Response: 10 points 



47 
  
 

 
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Notes on Scoring 

 

Purpose, Focus, and Organization – The response is fully sustained 

and consistently focused within the purpose, audience and 

task. There is a strongly maintained controlling idea—“The 

camping trip really helped John’s goal of preserving 

nature…”—and that idea is sustained through a three-

pronged structure for support. A variety of transitional 

strategies are used, with clear topic sentences for each body 

paragraph. There is a logical progression of ideas that 

features a satisfying introduction and conclusion. An 

appropriate tone is maintained throughout.  

 

Evidence and Elaboration – The response includes thorough and 

convincing support. Information from the first article is used 

throughout the response to support the response’s controlling 

idea. There are clear citations throughout. The effective use 

of source material is aided by the response’s own support, 

which links together text information to arrive at the 

conclusion of each body paragraph. There is an effective 

expression of ideas that includes precise language, 

appropriate vocabulary and varied sentence structures.  

 

Conventions – The response demonstrates an adequate 

command of basic conventions of standard English. 

4 4 2 
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Sample Response: 8 points 

4 2 2 



49 
  
 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Notes on Scoring 

 

Purpose, Focus, and Organization – The response has an 

effective organizational structure. The two passages are 

analyzed separately but thoroughly as the response strongly 

maintains the controlling idea that the trip “led to Roosevelt 

understanding the park’s dire situation as a problem that 

needed to be fixed”. Throughout, the response is consistently 

focused on the relationship between the two men on the trip 

and how their experiences are related to the task. Transitional 

phrases (“All of this led”, “With this mindset”, “In the past”, 

“However”) are used within the body paragraph to enhance 

the logical progression from beginning to end. The insightful 

conclusion maintains focus on the task, not just summarizing 

ideas already presented, but adding further student 

reasoning, creating coherence and completeness. The style 

is appropriate and is maintained throughout the response.  

 

Evidence and Elaboration – The response provides thorough, 

convincing and credible support for the main idea. Thorough 

and relevant evidence from the sources is smoothly 

integrated, as the response uses multiple examples from each 

passage, adds explanation (“Muir would ever be reminding 

Roosevelt”) and then extends the ideas (“Muir was calling for 

help…this was a problem that needed to be fixed and the 

president listened.”). The third paragraph is especially 

effective as Roosevelt’s experiences are clearly explained, 

followed by the results of the experience. The expression of 

ideas is clear and effective, with academic vocabulary that 

is clearly appropriate. Sentence structure is varied, 

demonstrating language facility, enhancing the effectiveness 

of the essay. Due to the lack of a citation, the score is limited 

to a “2” for Evidence and Elaboration.  

 

Conventions – The response demonstrates an adequate 

command of basic conventions of standard English. 
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Sample Response: 8 points 

3 3 2 
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Notes on Scoring 

 

Purpose, Focus, and Organization – The response is adequately 

sustained and generally focused on the task. Although the 

response lacks an overall introduction and conclusion, there 

is an evident organizational structure as each paragraph 

analyzes one part of the task. The second paragraph is 

stronger as the connection between the trip and the goals is 

clarified, relating Roosevelt’s impressions of Yosemite to his 

later actions to protect the trees. The strength of the response 

is the use of adequate transitional strategies within the body 

paragraphs to connect passage evidence with student 

elaboration, resulting in an adequate progression of ideas 

from beginning to end.  

 

Evidence and Elaboration – The evidence and elaboration 

adequately support the main idea. Relevant evidence is 

provided for both passages, with citations. Examples are well-

chosen and generally integrated. There is adequate use of 

elaboration as the response explains and extends the ideas 

presented, thus clarifying how Roosevelt was affected and 

how John Muir reached his goals. The expression of ideas is 

adequate, using a mix of precise and general language.  

 

Conventions – The response demonstrates an adequate 

command of basic conventions of standard English. 
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Sample Response: 8 points 

3 3 2 
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Notes on Scoring 

 

Purpose, Focus, and Organization – The response begins with an 

introduction that addresses the task and identifies the “goal 

of protecting the nature that protects us”. This is followed by 

two body paragraphs that treat each passage separately 

but maintain focus on the goal of John Muir to save Yosemite 

(although the examples given in the first body paragraph do 

not support how Roosevelt was affected). Adequate 

transitions are used to clarify the relationships among ideas 

and to create a logical progression within each body 

paragraph. The adequate conclusion reiterates ideas 

already discussed and gives a sense of completeness. 

 

Evidence and Elaboration – The evidence and elaboration 

adequately support the main idea. This is stronger in the 

second paragraph where the response’s elaboration clearly 

explains how the camping trip helped to achieve the goal, 

providing causal reasoning to make the point (“because he 

loves nature…the beauty affected him”, “This also helped 

Muir”, “so he gave a speech…which protected Yosemite 

Valley”). Relevant evidence is provided from both passages, 

with citations. Examples are well-chosen and generally 

integrated. The expression of ideas is adequate, using a mix 

of precise and general language.  

 

Conventions – The response demonstrates an adequate 

command of basic conventions of standard English. 
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Sample Response: 8 points 

3 3 2 
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Notes on Scoring 

 

Purpose, Focus, and Organization – The response is adequately 

sustained and generally focused on the task, with an 

adequate progression of ideas. The response presents a clear 

controlling idea (“Using this, John Muir could reach his goals”) 

in the weak introduction, which is a restatement of the task. 

Skillful transitions are used (“As he compares”, “While failing 

others”, “Seizing the opportunity”, “Without Roosevelt’s help”, 

“But with Roosevelt’s discovery”) to clarify the relationships 

between and among ideas. These also result in an adequate 

progression from beginning to end, with an insightful 

conclusion that contributes to the sense of completeness. 

 

Evidence and Elaboration – The evidence and elaboration 

adequately support the main idea. Evidence is provided from 

both passages, with a quote from the second passage but 

only general references to the ideas in the first source. 

Examples are well-chosen and generally integrated, 

especially in the first body paragraph, as the response’s 

insightful reasoning is supported with source information. 

Elaboration in the second body paragraph is more general 

and would benefit from more precise details from the sources 

to support the statements. The expression of ideas is 

adequate, using a mix of precise and general language. 

There is a clear citation.  

 

Conventions – The response demonstrates an adequate 

command of basic conventions of standard English. 
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Sample Response: 7 points 

3 2 2 
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Notes on Scoring 

 

Purpose, Focus, and Organization – The response is adequately 

sustained and generally focused on the task, beginning with 

a weak introduction that presents a controlling idea (“the 

beauty of the sequoias trees needed protection.”). This 

remains the focus throughout the body and conclusion of the 

response, contributing to the sense of completeness. The 

organization is weakened by the lack of transitional strategies 

in the body of the response, but the response does remain 

focused on the relationship between the two men and the 

transformational experience in Yosemite.  

 

Evidence and Elaboration – The weakly integrated evidence 

consists mostly of a summary of information from the first 

passage with some student comment. The response finally 

attempts to explain how the trip helped John Muir (“because 

Roosevelt saw the beauty in Yosemite”) in the conclusion. The 

lack of more substantial elaboration and reasoning in the 

response’s own words makes this an uneven or cursory 

examination of the topic. 

 

Conventions – The response demonstrates an adequate 

command of basic conventions of standard English. 
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Sample Response: 5 points 

2 2 1 
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Notes on Scoring 

 

Purpose, Focus, and Organization – The response begins with an 

introduction that addresses the controlling idea that John 

Muir “wanted the government to preserve the land around 

them.” There is an inconsistent organizational structure as the 

response begins with a summary of information to show how 

Roosevelt was affected, and then in the second body 

paragraph discusses John Muir’s goals. The weak 

introduction and conclusion, as well as the inconsistent use 

of transitional strategies, contribute to an uneven progression 

of ideas, as the response does not make the connections to 

explain how the trip helped achieve the goals.  

 

Evidence and Elaboration – The response provides uneven 

support for the main idea, using weakly integrated evidence 

from the first passage. The third paragraph is stronger as the 

response states three goals of Muir’s life, following each with 

the text information to prove that the goal was 

accomplished, but the elaboration is weak, as the response 

does not explain how the trip supported these goals.  

 

Conventions – The response demonstrates a partial command 

of basic conventions of standard English.   
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Sample Response: 5 points 

2 2 1 
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Notes on Scoring 

 

Purpose, Focus, and Organization – The response is somewhat 

sustained, beginning with an adequate introduction as the 

response presents the controlling idea that “Protecting Giant 

sequoias” is John Muir’s goal. Each body paragraph 

addresses the problem of the sequoias and acknowledges 

that there is a connection between the two men, but the 

inconsistent transitional strategies are not adequate to clarify 

the relationships between ideas. The weak conclusion relates 

to the task (“The President was a good source to help them 

out.”), but the response loses focus in the third and fourth 

paragraphs, since it is unclear how this information supports 

the task. The response lacks a sense of completeness. 

 

Evidence and Elaboration – The response provides uneven 

support for the controlling idea with partial use of both 

sources. There is ineffective use of elaborative techniques, as 

the support provided in each paragraph is primarily a 

summary of passage information. However, the examples 

chosen are relevant to the task, focusing on specific incidents 

and on what Muir wanted to accomplish. The response 

attempts to elaborate further in the conclusion by giving 

opinions on the problem of the sequoias.  

 

Conventions – The response demonstrates a partial command 

of basic conventions of standard English.   
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Sample Response: 5 points 

Notes on Scoring 

Purpose, Focus, and Organization – The response is related to the 

topic, but the controlling idea is unclear, as the response responds 

separately to each part of the task with an introductory sentence 

for each paragraph (“Roosevelt was affected” and “Roosevelt’s 

trip helps John”). There is only a limited discernible organizational 

structure as the response discusses each idea separately, and there 

are few transitional strategies to connect ideas. The response lacks 

an overall introduction, but the entire response is focused on the 

connection to John Muir’s goals, ending with a concluding 

sentence. 

Evidence and Elaboration – Evidence from both passages is used to 

provide uneven support for the controlling idea. The response 

effectively elaborates by providing general statements (“has done 

his best”, “it would be a shame”, “wants to protect them”), but 

these statements are only weakly supported by references to text 

details. The incidents are not sufficiently explained enough for the 

reader to know how the trip helped with the goals. Evidence is 

weakly integrated and the expression of ideas is simplistic.  

Conventions – The response demonstrates a partial command of 

basic conventions of standard English. 

2 2 1 
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Sample Response: 4 points 

 

 
 

 

 
 

 

 

 

 
 

 

 

 
 

 

 

 

 

 

Notes on Scoring 

 

Purpose, Focus, and Organization – The response is related to the 

topic, but the controlling idea is confusing as the response 

responds separately to each part of the task. There is only a 

limited discernible organizational structure, with few 

transitions (“This is why” and “This is how”) to connect the list 

of facts and ideas. The response lacks an overall introduction 

or conclusion, although the response does conclude each of 

his body paragraphs. 

 

Evidence and Elaboration – Minimal evidence is provided from 

both passages and the response attempts to elaborate, but 

the expression of ideas is vague. The response provides 

minimal support for the controlling idea.  

 

Conventions – The response demonstrates an adequate 

command of basic conventions of standard English. 

1 1 2 
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Sample Response: 0 points 

Notes on Scoring 

Purpose, Focus, and Organization – The response displays little 

awareness of the purpose or task. There is no controlling idea 

or discernible organizational structure.  

Evidence and Elaboration – There are only vague references to 

the text details (“valles,” “foreses” and “big”), which would 

not support a controlling idea. 

Conventions – The response demonstrates a lack of command 

of conventions of standard English, with frequent and severe 

errors that often obscure meaning.  

0 0 0 



65 
  
 

Sample Response: 0 points 

 

 
 

 
 

 

 

 

 
 

 

 

 
 

 

 

 

 

 

Notes on Scoring 

 

The response received no credit (0 points) because there was 

not enough original student work in comparison to text 

directly copied from the prompt/passages. 

0 0 0 
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Sample Response: 0 points 

 

 
 

 
 

 

 

 

 
 

 

 

 
 

 

 

 

 

 

 

 

Notes on Scoring 

 

The response received no credit (0 points) because there was 

not enough original student work in comparison to text 

directly copied from the prompt/passages. 

0 0 0 
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Stimulus for Questions 8 – 14 
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1044 
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Question 8 

 

Question and Scoring Guidelines 
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Question 8 

16926 

Points Possible: 1 

Topic: Craft and Structure 

Content Standard: Determine the meaning of words and phrases as 

they are used in a text, including figurative, connotative, and 

technical meanings. 

Student Performance on this Question: 

Percent 0 Points Earned: 43.23% 

Percent 1 Point Earned: 56.77% 
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Scoring Guidelines 

Rationale for Option A: This is incorrect. Though this may fit in the sentence, 

"wished for" does not account for the context of the rest of the sentences, 

which show Rockefeller forcefully taking over companies. 

 

Rationale for Option B: This is incorrect. Although a different meaning of the 

word "assume" has to do with thinking, it is not the meaning in this context. 

 

Rationale for Option C: Key – To assume means to take over, as in take over a 

process or organization. 

 

Rationale for Option D: This is incorrect. Although one might ask for control first, 

"asked for" and "assumed" are not the same action. 

 

Sample Response: 1 point 
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Question 9 

 

Question and Scoring Guidelines 
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Question 9 

16927 

Points Possible: 1 

Topic: Integration of Knowledge and Ideas 

Content Standard: Compare and contrast one author’s presentation 

of events with that of another (e.g., a memoir written by and a 

biography on the same person). 

Student Performance on this Question: 

Percent 0 Points Earned: 54.71% 

Percent 1 Point Earned: 45.29% 
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Scoring Guidelines 

Rationale for Option A: This is incorrect. Although Rockefeller probably wanted 

a permanent monopoly, Tarbell wanted to end monopolies entirely rather 

than install them on a temporary basis. 

 

Rationale for Option B: This is incorrect. Although Rockefeller thought that he 

stabilized the oil industry, there is no indication that he advocated monopolies 

for others. 

 

Rationale for Option C: This is incorrect. Though Rockefeller did many things to 

control the railroads, buying them was not one of them, and the dealings with 

the railroads are a supporting detail in both passages, not a key viewpoint. 

 

Rationale for Option D: Key – Rockefeller thought the industry “unstable” and 

thought a monopoly was good for the industry, while Tarbell thought a 

monopoly was unfair to small businesses: "It forced smaller companies out of 

business. Ida’s father’s company was one of those”. 

 

Sample Response: 1 point 
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Question 10 

 

Question and Scoring Guidelines 
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Question 10 

16928 

Points Possible: 1 

Topic: Key Ideas and Details 

Content Standard: Analyze in detail how a key individual, event, or 

idea is introduced, illustrated, and elaborated in a text (e.g., through 

examples or anecdotes). 

Student Performance on this Question: 

Percent 0 Points Earned: 52.46% 

Percent 1 Point Earned: 47.54% 
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Scoring Guidelines 

Rationale for First Option: This is incorrect. There is no indication in the passage 

that Tarbell desired fame, though she certainly achieved it. 

 

Rationale for Second Option: Key – Her father’s failed oil company helped 

motivate Tarbell to become an investigative journalist. 

 

Rationale for Third Option: This is incorrect. There is no indication that Tarbell 

had previously worked for John D. Rockefeller. 

 

Rationale for Fourth Option: Key – Her desire to uncover the truth helped 

motivate Tarbell to become an investigative journalist. 

 

Rationale for Fifth Option: This is incorrect. Her attitude towards Standard Oil 

seems to have been reasonably objective, neither support nor censure. 
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Question 10 

 

Sample Responses 
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Sample Response: 1 point 

Notes on Scoring 

This response receives full credit (1 point) because all correct 

answers are selected. For this item, a full-credit (1 point) 

response includes the following selections: 

 “Tarbell had a personal connection to the oil industry.”

AND

 “Tarbell wanted to find out the truth about Standard

Oil.”
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Sample Response: 0 points 

 
 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

Notes on Scoring 

 

This response receives no credit (0 points) because the 

second answer selected is incorrect. Although the first answer 

selected is correct, in order to receive credit for this item, 

students must select both correct answer options. No partial 

credit is awarded for this item type. 
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Sample Response: 0 points 

Notes on Scoring 

This response receives no credit (0 points) because none of 

the answers selected are correct. In order to receive credit 

for this item, students must select both correct answer 

options.  
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Question and Scoring Guidelines 
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Question 11 

16929 

Points Possible: 1 

Topic: Integration of Knowledge and Ideas 

Content Standard: Integrate information presented in different 

media or formats (e.g., visually, quantitatively) as well as in words to 

develop a coherent understanding of a topic or issue. 

Student Performance on this Question: 

Percent 0 Points Earned: 53.21% 

Percent 1 Point Earned: 46.79% 
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Scoring Guidelines 

Rationale for Option A: This is incorrect. The text passages present Standard Oil 

as the creation of John D. Rockefeller, while the illustration presents it as an 

industrial monolith without reference to him. 

 

Rationale for Option B: This is incorrect. The illustration shows Standard Oil 

menacing the government successfully, not harming the environment. 

 

Rationale for Option C: This is incorrect. In the illustration, the emphasis is on the 

harm to huge industries, while the harm to small businesses is emphasized in 

the text passages. 

 

Rationale for Option D: Key – In the illustration, the monstrous octopus that 

represents Standard Oil has control over the White House, the U.S. Capitol, a 

state capitol and other industries. 

 

Sample Response: 1 point 
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Question and Scoring Guidelines 
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Question 12 

16930 

Points Possible: 1 

Topic: Craft and Structure 

Content Standard: Determine the meaning of words and phrases as 

they are used in a text, including figurative, connotative, and 

technical meanings. 

Student Performance on this Question: 

Percent 0 Points Earned: 66.85% 

Percent 1 Point Earned: 33.15% 
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Scoring Guidelines 

Rationale for First Option: This is incorrect. Though the word “wealthy” appears 

in the sentence in which “legitimate” is used, and Rockefeller certainly wanted 

to lower his costs, the context in the sentences that follow shows that 

“legitimate” has to do with fair practice, not price. 

 

Rationale for Second Option: Key – The words “played fair” and “dishonesty” 

help the reader understand that “legitimate” means “honest”. 

 

Rationale for Third Option: Key – The illegal activities outlined in previous 

paragraphs help the reader understand that this is one meaning of 

“legitimate”. 

 

Rationale for Fourth Option: This is incorrect. Though the sentence in which 

“legitimate” is used mentions “grow big”, the context in the sentences that 

follow shows that “legitimate” has to do with fair practice, not power. 

 

Rationale for Fifth Option: This is incorrect. Though Rockefeller’s aim was for the 

oil industry to be stable, this does not make sense in terms of Tarbell’s 

perspective in this paragraph. 
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Question 12 

 

Sample Responses 
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Sample Response: 1 point 

Notes on Scoring 

This response receives full credit (1 point) because all correct 

answers are selected. For this item, a full-credit (1 point) 

response includes the following selections: 

 “honest”

AND

 “lawful”
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Sample Response: 0 points 

 
 

 

 

 

 

 

 

 

 

 

 
 

 

 

 

 

 

 

Notes on Scoring 

 

This response receives no credit (0 points) because the 

second answer selected is incorrect. Although the first answer 

selected is correct, in order to receive credit for this item, 

students must select both correct answer options. No partial 

credit is awarded for this item type. 



98 

Sample Response: 0 points 

Notes on Scoring 

This response receives no credit (0 points) because the 

second answer selected is incorrect. Although the first answer 

selected is correct, in order to receive credit for this item, 

students must select both correct answer options. No partial 

credit is awarded for this item type. 
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Question and Scoring Guidelines 
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Question 13 

16931 

Points Possible: 1 

Topic: Craft and Structure 

Content Standard: Determine an author’s point of view or purpose in 

a text and explain how it is conveyed in the text. 

Student Performance on this Question: 

Percent 0 Points Earned: 44.23% 

Percent 1 Point Earned: 55.77% 
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Scoring Guidelines 

Rationale for Option A: This is incorrect. Passage 1 talks about Rockefeller and 

how he created standard Oil by doing something new, but it does not analyze 

him. Passage 2 analyzes Standard Oil's practices, but not Rockefeller's success; 

indeed, it discusses what, to Tarbell, were failures. 

 

Rationale for Option B: Key – Both passages focus on the impact Rockefeller 

had on the oil industry. 

 

Rationale for Option C: This is incorrect. Both Tarbell and Rockefeller can be 

said to be oil industry insiders, but the passages are not written from their points 

of view. 

 

Rationale for Option D: This is incorrect. Though Passage 2 discusses the 

influence of muckraking, Passage 1 does not mention this aspect of the history 

of Standard Oil. 

 

Sample Response: 1 point 
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Question and Scoring Guidelines 
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Question 14 

16932 

Points Possible: 2 

Topic: Key Ideas and Details 

Content Standard: Cite textual evidence to support analysis of what 

the text says explicitly as well as inferences drawn from the text. 

Student Performance on this Question: 

Percent 0 Points Earned: 61.2% 

Percent 1 Point Earned: 9.93% 

Percent 2 Points Earned: 28.87% 
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Scoring Guidelines 

Part A 

Rationale for Option A: This is incorrect. Passage 1 does not mention any effect 

on oil prices, nor would this affect non-oil companies. 

 

Rationale for Option B: Key – Passage 1 clearly states that this occurred. 

 

Rationale for Option C: This is incorrect. Standard Oil did indeed create smaller 

companies, but they were not, presumably, non-oil companies. 

 

Rationale for Option D: This is incorrect. Shortly thereafter the opposite 

happened, but this would not have to do with non-oil companies. 

 

Part B 

Rationale for Option A: This is incorrect. This quotation does not provide 

evidence supporting the fact that other non-oil companies established 

monopolies. 

 

Rationale for Option B: This is incorrect. This quotation does not provide 

evidence supporting the fact that other non-oil companies established 

monopolies. 

 

Rationale for Option C: Key – This quotation provides evidence for the correct 

answer to Part A. 

 

Rationale for Option D: This is incorrect. This quotation does not provide 

evidence supporting the fact that other non-oil companies established 

monopolies. 
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Sample Responses 
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Sample Response: 2 points 

Notes on Scoring 

This response receives full credit (2 points) because the 

correct answer is selected in both Part A and Part B. 
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Sample Response: 1 point 

 
 

 

 

 

 

 

 

 

 

 

 

Notes on Scoring 

 

This response receives partial credit (1 point) because the 

correct answer is selected in Part A, but an incorrect answer is 

selected in Part B. 
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Sample Response: 1 point 

Notes on Scoring 

This response receives partial credit (1 point) because the 

answer selected in Part A, but an incorrect answer is selected 

in Part B.  
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Sample Response: 0 points 

 
 

 

 

 

 

 

 

 

 

 

 

Notes on Scoring 

 

This response receives no credit (0 points) because the 

answer selected in Part A is incorrect. Even if the answer 

selected in Part B is correct, students do not receive partial 

credit on this item type when Part A is incorrect. In order to 

receive partial credit (1 point) for this item, students are 

required to select the correct answer in Part A. 
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Sample Response: 0 points 

Notes on Scoring 

This response receives no credit (0 points) because the 

answer selected in both Part A and Part B is incorrect  
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